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= 1,666,321 1,749,321 A.83,000
= 9,344,000 9,344,000 0
£ 200,000 0 200,000
< 2,626,916 2,259,076 367,840
s 14,873,696 12,303, 156 2,570,540
Mo CHEM A 2= 864,429 823,379 41,050
= 21,321 20,321 1,000
< 24,216 22,376 1,840
= 818,892 780,682 38,210
Het2e| 23 e 518,316 484,516 33,800
= 5,946 4,946 1,000
< 9,673 7,833 1,840
[ia 502,697 471,737 30,960
Mot &5 267,274 260,274 7,000
201 LEr2A | 227,910 220,910 7,000
01 At 2teltl 195,500 188,500 7,000
O=zolotdEs g2 22 3,000 0 3,000
O3BEEAL AE=Z A & 2,000 0 2,000
O=Jttd S ANEEZE HAWU M
20,000 = 1004 2,000 0 2,000
SHMEIJIE Meldl X3 A 40,000 20,000 20,000
301 et d = 40,000 20,000 20,000
12 JIE24 =3 40,000 20,000 20,000
O=tMEIIZS Meldl X& 40,000 20,000 20,000
HOPts HEFHAAS ATNSF 2,000 0 2,000
= 1,000 0 1,000
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s 600 0 600
201 L Er2A | 2,000 0 2,000
= 1,000 0 1,000
= 400 0 400
[ia 600 0 600
01 AtR 22l | 2,000 0 2,000
OO0tz HHEFHAANE AN 2,000 0 2,000
= 1,000 0 1,000
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s 600 0 600
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< 1,440 0 1,440
[ia 3,360 0 3,360
ME DI 2H3 346,113 338,863 7,250
= 15,375 15,375 0
=) 14,543 14,543 0
s 316,195 308,945 7,250
QI RAA L EHH R 2 19,822 13,372 6,450
201 Let2dE] 19,822 13,372 6,450
02 2324l 19,822 13,372 6,450
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= 2,805 2,805 0
< 2,226 2,226 0
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12IIEtE 4= 1,700 900 800
oggflus o 1,400 600 800
=) 180 180 0
e 1,220 420 800
MAAE oty He 27,275,000 24,446,000 2,829,000
= 1,645,000 1,729,000 A 84,000
= 9,344,000 9,344,000 0
= 200,000 0 200,000
=) 2,602,700 2,236,700 366,000
= 13,483,300 11,136,300 2,347,000
SHETHOH OIZHMA = 12,418,000 12,308,000 110,000
= 6,404,000 6,404,000 0
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401 Al HI K 201 I 1,600,000 1,100,000 500,000
01 A& HI 1,600,000 1,100,000 500,000
OXMaiole =A 1,000,000 500,000 500,000
Sol28 XA 550,000 300,000 250,000
307 21201 & 550,000 300,000 250,000
06 283 550,000 300,000 250,000
OZ=ol28 X& 550,000 300,000 250,000
THoH R & X7 HBIAY 1,500,000 1,400,000 100,000
= 700,000 700,000 0
) 280,000 280,000 0
[ia 520,000 420,000 100,000
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= 700,000 700,000 0
= 280,000 280,000 0
= 520,000 420,000 100,000
01 A& HI 1,492,720 1,392,720 100,000
OMHAEMER 7 HALAHEA 100,000 0 100,000
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= 200,000 0 200,000
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s 1,401,800 223,800 1,178,000
401 AIEHI L 2 0] 2,140,000 396,000 1,744,000
= 200,000 0 200,000
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s 1,401,800 223,800 1,178,000
01 A& HI 2,140,000 396,000 1,744,000
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=) 366,000 0 366,000
s 549,000 0 549,000
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= 200,000 0 200,000
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2 4,000 0 4,000
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2 276,000 351,000 A75,000
01 Al&HI 276,000 351,000 A75,000
ORIt & MK+ 276,000 351,000 AT75,000
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qug Aesd Z 241,960 133,960 108,000
Quaze Fe gxze 180,960 80,960 100,000
401 A& HI L 2 H bl 160,000 60,000 100,000
01 Al 160,000 60,000 100,000
OHIA ¥ ZEAE E+BA 140,000 40,000 100,000
SULTHX OIFEHX 2l 61,000 53,000 8,000
101 124 bl 9,000 3,000 6.000
STENEESETIRS 9,000 3,000 6.000
OmMZSY 9,000 3,000 6,000
201 L2 | 32,000 30,000 2,000
02 2zl 32,000 30,000 2,000
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AR AN Y 87,660 87,660 0
RSB EIgN= 87,660 87,660 0
201 L2 | 1,000 1,000 0
02 2zl 1,000 1,000 0
ONIYATHNAZ 2P HBE S 263 1,000 1,000 0
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